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() e
\ Q/ Solving Sequence

i - > 29 — — 1 — 4 — C4,C7,C
A knot d1agranﬂ 6,9 o 3,7 aladalall 1o 4 o 8 enen

Ideals for irreducible component#ﬂ)f Xpar

= (b —u, 5ub + 6u® + 13u? — Tu? + 29u* + 9a — 11u + 16, u” + u® + 2u’ — 3u® + 5u® — 3u® + 4u — 1)
= (b—u, 54u° — 72u* — 84u® — 80u® + 11a — 85u — 184, u® — u® — 2u* — 2u® — 2u? — 4u — 1)
= (37u" — 61u’ + 51u® — 60u* + 86u> — 191u? + 29b + 214u — 54,
— 414" 4+ 77u8 — 62u° + 61u* — 100u® + 214u? + 29a — 292u + 81,
u® — 2u” + 2u® — 2u® + 3u* — 6u® + 8u? — 4u + 1)
= (u® 4+ 3u® + 3b + 6u + 7, —2u® — 21u* 4 39a — 57u — 59, u* + 4u® + 9u® + 10u + 13)
b-—u—1,a—u—1, uv*+u+1)
(b+u, a+4u—9, u* —2u—1)
(b+u—1,3a—2u+2, u*> —u+3)
b+u+1, a, u? +u+1)
(b+1,a+1, u—1)
=b+u—1,a—u+1, v*>—u+1)

* 10 irreducible components of dim¢ = 0, with total 36 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I* = (b—u, 5u®+6u’+---+9a+16, u” +ub+2u®—3u*+5u3—3u?+4u—1)

(i) Arc colorings

o ()

0
ag = U
5,6 2,5 4 .4 11, 16
g —3u -t gu—7
a3: U
1
a7: u2
(1 e e )
a9 = L6 _Ll,54 ... _2 4
2 U —3u + U T3
1,6 1 1,5 4 .. _ 4, o 14
gu’ +3u+ Ut g
as = —u?
ajo=\ _1,6 _1 _5 4
10 gu —3u + Ut 3
( -1
a1 =\_2,6__2,5_,  _ _ 19 8
B U —3u”+ oU+tg
a; = 2,6 __ 2,5 . . _19 8
1 ou” —3u’+ o Uty
(—§u6—§u5+- —I—;u—%
ay = 4,6 1,54 ..._7 2
4 gu +3u”+ U+ 3
( U
ag = \ 496 1 1,5 T2
8 U +3u”+ gut 3§
( u
ag = 4,6 4 1,5 4 . _ 7 2
8 U +3u” + gut 3§
(ii) Obstruction class = —1
(iii) Cusp Shapes = — 2006 — 8¢° — 24 4 123 — 86,2 4 14, 130



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 u” + 4u8 + 24u® + 58u* + 139u® + 19442 + 120u + 24
€2, €4, C7 u” +ul + 8ud —ut + 1203 — 10u® — 2u + 2
cy
€3, s, Co u’ —ul 4+ 208 4+ 3ut 4+ 5ud + 3u +du+1
cs
ci u” + Tu® + 28u° + 69u* + 106u” + 96u” + 48u + 8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, €10 y" + 32y° 4+ 390y° + 1996y* + 2385y — 7060y2 + 5088y — 576
e T y" + 15y° + 90y° + 207y + 88y> — 144y® + 44y — 4
C9
€3,C5,C6 Y7 + 3y% + 20y° + 25y* + 25y° + 25y% + 10y — 1
Cs
cn Y+ Ty® +30y7 — T3y" + 564y° — 144y” + 768y — 64




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = 0.757011 4 0.6851231
a 0.681482 — 1.1702207
b= 0.757011 + 0.6851231

—1.68375 — 3.491521

—15.3039 + 5.78021

u= 0.757011 — 0.6851231
0.681482 + 1.1702201
0.757011 — 0.6851231

—1.68375 + 3.491521

—15.3039 — 5.78021

u = —0.134406 4 0.8992261
a= 0.516003 4 0.7368111
b = —0.134406 + 0.8992261

10.56250 + 1.199231

—2.68829 — 5.875661

u = —0.134406 — 0.8992261
a= 0.516003 — 0.7368111
b = —0.134406 — 0.8992261

10.56250 — 1.199231

—2.68829 + 5.875661

u = 0.285988

a = —1.68483 —0.666622 —14.5180
b= 0.285988
u = —1.26560 + 1.567091

a = —0.855070 — 0.6847251
b= —1.26560 4 1.567097

14.4836 + 11.41091

—7.74903 — 4.574881

u = —1.26560 — 1.567091
a = —0.855070 4 0.6847251
b= —1.26560 — 1.567091

14.4836 — 11.41091

—7.74903 + 4.574881




II.
I¥ = (b—u, 54u® —T2u*+.--+11la— 184, u®—u® —2u* — 2u® — 2u? —4u —1)

(i) Arc colorings

o ()
o ()

( 4.90909u° + 6.54545u* + - - - + 7.72727u + 16.7273)
az =

u
1
a7 = u2

( —4.36364u° + 5.81818u* + - - - + 7.09091u + 15.0909 )
as =

o

0.272727u® + 0.363636u* + - - - + 0.818182u — 0.181818

—u?

1.63636u° + 2.18182u* + - - - + 2.90909u + 5.90909)

—2.45455u® 4+ 3.27273u* + - - - + 3.36364u + 8.36364
a1o = \ —0.272727u° 4 0.363636u* + - - - + 0.818182u — 0.181818
—2.45455u® 4 3.27273u* 4 - - - + 3.36364u + 9.36364
a1 = \ —0.272727u® 4 0.363636u* + - - - + 0.818182u — 0.181818
—2.72727u° + 3.63636u* 4 - - - + 4.18182u + 9.18182
a1 = \ —0.272727u° + 0.363636u* + - - - + 0.818182u — 0.181818
1.63636u° — 2.18182u* + - - - — 2.90909% — 5.90909
as = \ —0.181818u® — 0.0909091u* + - - - 4+ 0.545455u + 0.545455
6.72727u® — 8.63636u* + - - - — 10.1818u — 23.1818
ag = |\ —0.181818u® — 0.0909091u* + - - - 4+ 0.545455u + 0.545455
6.72727u® — 8.63636u* + - - - — 10.1818u — 23.1818
ag = \ —0.181818u® — 0.0909091u* + - - - 4+ 0.545455u + 0.545455
(ii) Obstruction class = —1
(iii) Cusp Shapes = — 8¢5 4 124 4 L6y3 4 188,24 164, 4 274



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C10 (u — 1)6
C2,C4,C7 (u?) _ 'U,2 _ 1)2
cy
€3,C5,C6 wl +ud —2ut 4+ 203 — 2P +4u—1
cs
c11 (u® — 3u* + 4u — 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C10 (y—1)°
C9,Cy4,C7 (yS_y2_2y_1)2
cy
€3:¢5, €6 y® — 5y° —dy* — 6y® — 8y — 12y + 1
Cs
c11 (y° —y* + 10y — 1)




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

uw=0.346535 + 1.0176701

a= 0.040902 — 0.2143691 1.59057 — 4.749501 | —3.95625 + 7.598081
b= 0.346535+ 1.0176701

uw=0.346535 — 1.0176701

a= 0.040902 + 0.2143691 1.59057 + 4.749501 | —3.95625 — 7.598081
b= 0.346535 — 1.0176701

u = —0.920485 + 0.6486811

= —1.37622 — 0.474211 1.59057 + 4.749501 | —3.95625 — 7.598081
= —0.920485 + 0.6486811

= —0.920485 — 0.6486811

= —1.37622 4 0.474211 1.59057 — 4.749501 | —3.95625 + 7.598081
= —0.920485 — 0.6486811

15.0105 —8.11594 21.9130
= —0.280929

= 2.42883

= 0.660157 —8.11594 21.9130

b
]
a
b
u = —0.280929
a
b
U
a
b= 2.42883




II1. 1%

(37Tu”—61ub+- - -+29b—54, —41u"+77ub+---+29a+81, u®—2u"+---—4u+1)

(i) Arc colorings

()

ag = \(
0
ag = \u
az = (-1.27586u7 +2.10345u8 + - -
1
a7 = u2
0.482759u7 — 0.931034ub + - - -
ag = —u” 4+ 2u8 — 205 4+ 2ut —
0.655172u" — 1.62069u’ + - - -
as = \ —0.551724u" + 1.20690u8 + - - -
0.310345u"” — 1.24138u’ + - - -
a10 = \ —0.827586u" + 1.31034u’ + - -
0.379310u" — 1.51724u8 + - - -
a11 = \ —0.551724u" + 1.20690u’ + - - -
—0.17241447 — 0.310345u® + - -
a1 =\ —0.551724u7 + 1.20690u5 + - -
0.655172u7 — 1.62069u’ + - - -
a4 = \ —0.17241447 + 0.689655u’ + - -
0.448276u" + 0.206897u’ + - - -
as = \ 0.172414u" — 0.689655u’ + - -
0.448276u7 + 0.206897ub + - - -
ag = \ 0.172414u" — 0.689655u’ + - -

(ii) Obstruction class =1

74

(iii) Cusp Shapes = 28u” — 2040 + 14

= 39U 2

1.41379u" — 2.65517u® + - - - + 10.0690u — 2.79310

)

+ 3.41379u — 0.758621
3ud + 6u? —Tu+2

+ 6.27586u — 3.17241
— 4.75862u + 2.72414

+ 4.55172u — 2.34483
—4.13793u + 2.58621

+ 5.89655u — 4.31034
— 4.75862u + 2.72414

-+ 1.13793u — 1.58621
- —4.75862u + 2.72414

+6.27586u — 3.17241
- — 2.86207u + 2.41379

— 0.758621u + 3.72414
+ 2.86207u — 2.41379

— 0.758621u + 3.72414
-+ 2.86207u — 2.41379

— 7.37931u + 1.86207

)
)
)
)
)
)
| )
)

5 _ 110,3 _ 218,2 | 208 _ 324
29 U 20 U” T g U

u 29

70,4
SqU” +

10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u* — 2u® +2)2
C2,C4,C7 (U4 =+ U2 _ 1)2
C9

c3,Cs u® + 20" + 208 4 2u° + 3ut + 6ud + 8u? +4u+1

Cg, C8 u® — 207 + 208 — 2u° + 3ut — 6ud + 8uZ —du+1
Cc10 (u4 + 2u3 + 2)2
c11 (ut — 2u® + 5)2

11



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 (v — 4 +4y* + 4)?
C9,Cy4,C7 (y2+y_1)4
cy
€3,C5,Ce ys +2y6 +3y4 —|—22y2 +1
cs
c11 (y* =2y +5)*

12



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.415941 + 1.2020907
0.415941 + 0.5840591 | 0.82247 — 3.663861 | —8.00000 + 2.000001
—0.326993 — 0.3269931

0.415941 — 1.2020907
0.415941 — 0.5840591 0.82247 4 3.663861 | —8.00000 — 2.000001
—0.326993 + 0.3269931

1.202090 + 0.4159411
1.202090 — 0.2020931 0.82247 — 3.663861 | —8.00000 + 2.000001
0.945027 + 0.9450271

1.202090 — 0.41594171
1.202090 + 0.2020931 0.82247 4 3.663861 | —8.00000 — 2.000001
0.945027 — 0.9450271

= —0.945027 + 0.9450271
—0.945027 — 0.6730071 0.82247 4 3.663861 | —8.00000 — 2.000001
—1.202090 + 0.4159411

—0.945027 — 0.9450271
= —0.945027 + 0.6730071 0.82247 — 3.663861 | —8.00000 + 2.000001
—1.202090 — 0.4159411

0.326993 + 0.3269931
0.32699 + 1.945031 0.82247 — 3.663861 | —8.00000 + 2.000001
—0.415941 — 1.2020901

0.326993 — 0.3269931
0.32699 — 1.945031 0.82247 4 3.663861 | —8.00000 — 2.000001
= —0.415941 + 1.2020901

> 2 €|l & €| & 8|l & €| & €| & €| & &8> & &

13



IV. I} =
(ud+3u?+3b+6u+7, —2u3—21u%+39a—57u—>59, u*+4u+9u?+10u+13)

(i) Arc colorings

)
)

0512821u3 + 0. 538462u + 1.46154u + 1. 51282)

1,3 7

0.
—zu’ — u? — 2u — 3
0.0512821* + 1. 53846u + 3. 46154u + 3. 51282)

ag =
az =
a7 =

az = — —8u? — 12u —

0.230769u> + 0 923077u + 1. 07692u + 0. 307692)

(
(
(+
(
%:( TR
o=
o=
(
C
(

0.307692u® — 1.23077u? — 3.76923u — 5.07692
—%u?’ —3u? +u— %

0.0256410u® — 0.230769u2 — 0.769231u — 1. 74359)
1

0.0256410u® — 0.230769u? — 0.769231u — 0. 743590)
1

0.230769u® — 0.923077u? — 1.07692u — 0. 307692)

1,3 2 1

a4 = = — o — =
4 3u u u 3

L3 2y =1
U u u—3

(0.435897u3 +1.07692u? + 0.923077u — 1.64103)

0.435897u> + 1.07692u? + 0.923077u — 1. 64103)
ag =

B - R R
U U U

ag =
8 3

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,10 (u? — 2u +10)?
C2,C4,C7 (u2 _u+7)2
C9
€3, 5, %6 ut — 4u® 4 9u® — 10u + 13
Cs
C11 (u + 1)4

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1, C10 (y2 + 16y + 100)2
Co,Cq4,C7 (y2 + 13y + 49)2
cy
€3, C5, Co yt 4+ 2y + 2792 + 134y + 169
cs
c11 (y—1)*

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.13397 + 1.500007
a= 0.16139 4 1.806951 13.1595 —6.00000
b= —0.13397 — 1.500001
u = —0.13397 — 1.500007
a= 0.16139 — 1.806951 13.1595 —6.00000
b= —0.13397 + 1.500001
u = —1.86603 + 1.500007
a = —0.238314 — 0.1915681 13.1595 —6.00000
b= —1.86603 — 1.500001
u = —1.86603 — 1.500007
a = —0.238314 + 0.1915681 13.1595 —6.00000
b = —1.86603 + 1.500001

17



Vit=b—u—1l,a—u—1,u? +u+1
5

(i) Arc colorings

= (o)

ag =
az =
a7 =

ag =

ag =
u
ag = \ -2

(ii) Obstruction class =1

(iii) Cusp Shapes = —9

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u+u+7
Ca,Cyq, C
2, C4, C7 U2 +3
Cg, C11
c3,Cs w—u+1
Cg, C8 w4u+1
C10 w—u+7

19



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C10 y2 + 13y + 49
C2,C4,C7 (y+3)2
Cg, C11
€3,Cs,Ce y2+y+1
cs

20



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
u = —0.500000 + 0.8660251
a = 0.500000 + 0.8660251 9.86960 —9.00000
b= 0.500000 + 0.8660251
u = —0.500000 — 0.8660251
a = 0.500000 — 0.8660251 9.86960 —9.00000

b= 0.500000 — 0.8660251

21



VL I} =(b+u, a+4u—9, u? —2u — 1)

(i) Arc colorings

= (o)

ag =
az =
a7 =

a9 =

ag =

Su — 12
a8: u

(ii) Obstruction class =1

(iii) Cusp Shapes = —52

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Y
! (u+1)?
C2,C4,C7 U2 —9
Co
c3, Cs u?+2u—1
2
Cg, C8 u”—2u—1
2
C10 (u — 1)
C11 ’LL2

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C10 (y—1)*
C2,C4,C7 (y_2)2
C9
C3,C5,Ce y2—6y+1
cs
C11 y2

24



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape
u = —0.414214
a= 10.6569 —8.22467 —52.0000
b= 0.414214
u= 241421
a = —0.656854 —8.22467 —52.0000
b= —-2.41421

25



VIL. I¥ = (b+u—1, 3a —2u+ 2, u? —u + 3)

(i) Arc colorings
1
ag = O
ag =
az =

a7 =

W
N———

+
Wi ~Nwle r |

|
—_
N N N N e N

Wl

win
SN
—
W=

aq =

=
wlen

ag =

=)
ot
|
/—\/—\/\/—\/—\/—l\/—\/—\/—\/—\
0o
I + + =

ag = 1

R
@l
<
I
wlon

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

26



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2) 2
€1, €10 (u+2)
C2,C4,C7 U2+3U+5
cy
€3,Cs,Ce w4u+3
Cs
2
C11 (u — 1)

27



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €10 (y —4)*
C2,C4,C7 y2+y+25
cy
€3,Cs,Ce y2 +5y49
Cs
c11 (y—1)°

28



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
uw = 0.50000 + 1.658317
a = —0.333333 + 1.1055401 3.28987 —6.00000
b= 10.50000 — 1.658311
= 0.50000 — 1.658311
a = —0.333333 — 1.1055401 3.28987 —6.00000

b:

0.50000 + 1.658311

29



VIIL I = (b+u+1, a, u> + u+ 1)

(i) Arc colorings

= (o)

ag =
0
a3 = \—u—1
1
ar= \—-u-1
—u—1
as = —1

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

30



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C10 u2
C2,C3,C4
2
C5,C65 C7 u—u+l
Cg, Co
2
C11 (u — 1)

31



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, ¢1o y?
C2,C3,C4
2
C5,Cq,C7 Y +y+1
Cg, Co
11 (y —1)°

32



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape

u = —0.500000 + 0.8660251
a= 0 3.28987 —6.00000
b = —0.500000 — 0.8660251

u = —0.500000 — 0.8660251
0 3.28987 —6.00000
b = —0.500000 + 0.8660251

33



IX. Iy =(b+1,a+1, u—1)

(i) Arc colorings

= (o)

ag =
az =

a7 =

ag =

w- (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

34



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C6,C8 u—1
C2,C4,C7 U
Cg, C11
€3, Cs5, €10 u+1

35



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,€3,Cs5 Y — 1
€6, C8, C10
C2,C4,C7 y
Cg, C11

36



(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = —1.00000 —3.28987 —12.0000
b = —1.00000

37



X.I=0b+u—1,a—u+1, u* —u+1)

(i) Arc colorings

= (o)

ag =
az =

a7 =

ag =

-

(ii) Obstruction class = —1

(iii) Cusp Shapes = —9

38



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
01563565 u2+u+1
€6, C8, C10
C2,C4,C7 (U + 1)2
Cg, C11

39



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
01563565 y2+y+1
€6, C8, C10
C2,C4,C7 (y_ 1)2
Cg, C11

40



(vi) Complex Volumes and Cusp Shapes

Solutions to I}y VvV—1(vol + /—1CS) Cusp shape
= 0.500000 + 0.8660251
= —0.500000 + 0.8660251 0 —9.00000

0.500000 — 0.8660251

0.500000 — 0.8660251
= —0.500000 — 0.8660251 0 —9.00000
0.500000 + 0.8660251

41



XI. u-Polynomials

Crossings u-Polynomials at each crossing
1 w?(u—1)"(u+ 1)%(u+2)%(u? — 2u + 10)%(u* + u+ 1) (u? +u +7)
((ut = 2u® +2)2) (u” + du® 4 -+ 120u + 24)
C2,C4,Cr u(u+ 1) (u? — 2)(u® + 3)(u? —u+ 1) (u® —u + 7)*(u® + 3u + 5)
Co (= u? =))W+ - D2 ub - 2ut2)
(u+ 1) (u? —u+1)*w? +u+1)(u® +u+3)(u? +2u—1)
3,65 S(ut = 4w 4 9u? — 10u + 13) (ub + u® — 2ut + 203 — 2u® + 4u — 1)
(" = u® 4 2u® 4 3ut + 5ud 4 3u? + 4u + 1)
(u® 4 2u” 4+ 2u8 + 2u° 4 3ut + 6u® + 8u? + 4u + 1)
(u—1)(u* = 2u—1)(u* —u+1)(u? +u+1)*(u® +u+3)
€6, €8 S(ut = 4w 4 9u® — 10u + 13) (ub + u® — 2ut + 203 — 2u® + 4u — 1)
(" = u® 4 20° 4 3ut + 5ud 4 3u? + 4w+ 1)
(u® = 2u” 4+ 2u8 — 2u® 4 3ut — 6u® + 8u? — du + 1)
c10 w?(u—1)%(u+ 1) (u +2)*(u? — 2u + 10)*(u® —u+7)(u? + u + 1)
((ut 4203 +2)?) (u” 4 4ub 4 -+ 1200 + 24)
en uwd(u— 1w+ 1)%(u? + 3)(u® — 3u® + 4u — 1) (u? — 2u® + 5)?

(u” 4 Tu® 4 28u® + 69ut + 106u> + 96u” 4 48u + 8)
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XII. Riley Polynomials

Crossings Riley Polynomials at each crossing
v (y =42y —1)°(W° +y+ D(y* + 13y +49)(y* + 16y + 100)*
1 €10 4 3 2 2
(Yt 4y +4y” +4)
(" + 3295 + 390y + 1996y + 2385y° — 7060y> + 5088y — 576)
Cay Cay €7 Yy =2y -1’ +3)>@ +y— D' +y+ 1)y +y+25)
co (P + 13y +49°(y° —y® — 2y — 1)°
(y" + 15y 4+ 90y° + 207y* + 88y3 — 144y> + 44y — 4)
—1)(y? — 6y +1)(y? 1)3(y?
e 5. o (y— Dy =6y +1)(y"+y+1)°(y" + 5y +9)
’ ’08 Syt + 207 4+ 27y + 134y + 169) (v — By’ + - — 12y + 1)
(Y7 + 3y5 + 200° + 25y* + 2593 + 25¢% 4+ 10y — 1)
(4208 3yt + 2202 + 1)
- vy =1y +3)%( 2y +5)"(y° —y* + 10y —1)°

(y" 4 Ty8 + 30y° — T3y* + 564y° — 144y% 4 768y — 64)
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